Circles - Class Xl

Past Year JEE Questions

Questions

Quetion: 01

If P and Q are the points of intersection of the circles

x4 yr 4 3x+ Ty+2p—-5=0and X2 yi 2+ 2y — p* =0 then there is a circle passing
through P, Q and (1, 1) for:

A. all except one value of p

B. all except two values of p

C. exactly one value of p

D. all values of p

Solutions
Solution: 01

Explanation
The given circles are
S1=x24y243%x+7y+2p=5=0 ... (1)
So=x24y2 4242y —p?=0 o)

.. Equation of common chord PQ is S1 - $2=0
:sz+5y+p2+2p—5=0

= Equation of circle passing through P and Q is
S1+4A1L=0

> (24 y2 43+ Ty +2p—5) + 2
(x+5y+p>+2p-5)=0

As it passes through (1, 1), therefore

> T+20)+4(2p+p2+1)=0

_ Zp+1/
= A= g

which does not exist for p = —1



